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001. Find the area of a rectangle with a lengthof L=8+X andawidth of W=8-X. _,r} 4
A 64+X B. 64 +16X~X? C. 64-X D. 64+8X— X2 \ .f

002. One hog weighs 40 pounds more than another hog. If three times the weight of the little hog
Is the same as twice the weight of the big hog then what is the weight of the little hog?

A. 920 B. 70 C. 80 D. 120

003. If a Texas wild hog can run M miles in 60 minutes then how many miles will the hog run
In 80 minutes?

A. 4M/5 B.3M/4 C. 4M/3 D. 4m

004. If a square has a side of 2X and an area of 144 square miles then what is X?

A. 10 B. 11 C. 6 D. 20

005. If Joe has a total of 20 nickels and dimes and the value of the coins is $1.40 then how many
nickels and dimes does he have?
A. 1nickel and 19 dimes B. 8 nickels and 12 dimes

C. 12 nickels and 8 dimes D. 10 nickels and 10 dimes

006. Patrick bought a total of 15 slices of regular and stuffed crust pizza slices. The regular pizza slice
cost $2.00 each and the stuffed crust pizza slice cost $3.00 each. If he paid $35.00 for all the
pizza slices then how many of each did he buy?

A. 11 regularand 4 stuffed B. 1 regular and 14 stuffed

C. 10regular and 5 stuffed D. 5 regular and 10 stuffed
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007. If XY=K and X=4 when Y=6 then find Y if X=2. / \
. ;" / . .j
A.Y=10 B.Y=20 C. Y=12 D.Y=13 / J AN
008. Find the mean (average ) of the three angles inside of a right triangle. L\\ v

A. 40 B. 50 C. 60 D. 80

009. The probability of rain is % . find the probability of no rain in two days in a row.

A. 1/6 B. 3/16 C. 9/16 D. 15/16

010. At a book store a book is on sale for 20% off. If the original price of the book was B,
then what is the sale price in terms of B?

A. .60B B. .S0B C. .80B = D. .50B

011. The length of a rectangular carpet is 6 feet more than the width. If the area is
40ft* then find the length and the width.

A. L=10, W=2 B. 1=20, W=2 C. L=10, W=4 D. L=8,W=5

012, Solve 2W(W-4)=0

A. W=0or W=-4 B. W= -2 or W=4 C. W=0orw=4 D. W=2orw =-4

013. FindC if C=P +.065P and P=99.99

A. 106.48939 B. 106.48932 C. 106.48935 D. 106.48936



014. If a box has 4 blue, 5 green, and 3 red counting hogs then what is the probability of // ’

choosing a blue hog at random?

A 1/12 B. 1/2 C. 1/3

015. Find the Y-intercept for Y = (X —4)?

A.(0-16) B.(-16,0) C.(0,16)  D.(4,0)

016. Find the X-intercepts of Y =-16X*+32X

A. (0,0), (-16,32) B. (0,-16), (0,32) C.(0,0), (2,0)

017. Solve 8X*—7X-1=0

A. {1/8, 1} B. {-1/8, -1} C.{-1/8, 1} D. {1/8, -1}

018. Solve X*-X-12=0

A.{3,4} B.{-3,4} C.{-34} D.{3,-4}

019. Find C if (3X—2)(4X +C) = 12X* + 7X - 10

A. C=3 B. C=4 C. =5 D. C=6

020. Solve X*~6=X

A. {-2,-3} B. {2,-3} C.{-2,3} D. {2,3}

021. Solve X+3Y=11
4X~y=5

A.(-2,3) B.(-23) C.(2,3) D.(-2,-3)

D. 1/6

D. (0,0), (-2,0)



022. ifonamap 1inch equals 5 miles then 30 inches equals how many miles.

A. 120 miles B.140 miles C.150 miles D. 180 miles

023. Find V if V=ntr’'H  ,r=6a, and H=2a+5

A. V=72na® B.V=180ma® C.V=72na’+180ma’ D.V=72na’+180na

024. Find % of (16X + 20)

A. 4X+15 B. 4X-20 C.4X+5 D.4X+10

025. Factorthe GCF  14X° + 8X% + 12XY?

A. 2X(X +Y) B. 2X(7X + 8X + 12Y?) C.2X(7X2+4X+6Y%)  D. 2X(7X* +4X + 12Y?)

026. Factor 3X3 +9X%+6X

A 3X(X+1)(X+6) B.3X(X—-1){x—2) C.3X(X+1)(X+2) D.6X(X+1)}{X+2)

027. Factor the GCF  14X3 + 6X* + 8X

A. 2X(X+Y) B. 2X(7X*+3X+8)  C. 2X(7X*+3X+4)  D. 2X(7X* +3X + 1)

028. Factorthe GCF 15X +5

A. 5(3X+5) B.5(2X+1) C.5(3X+1) D. 5(5X+1)

029. Factorthe GCF  8X3Y - 2X%Y?

A. 2XY(4-Y) B. 2X}4-Y) C. 2XY(4-Y) D. 2Y’¥(2-Y)



030. Solve 7Y+2=15+3Y

A.Y=4/13 B.Y=-4/13 C.Y=13/4 D.Y=-13/4
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